	One length of the swimming pool is 25 metres.
a. Jane swims 5 lengths of the pool.
How far does Jane swim altogether?
b. Kiz swims 225 metres in the pool.
How many lengths does he swim?
	Sita has 3 m 60 cm of ribbon. She cuts it into 3 equal pieces. How long is each piece?
	There are 440 drinking straws in a box.
There are 4 colours of straws.
There is the same number of each colour.
How many of each colour are in a box?

	Alex buys 6 packets of stickers.
There are 5 stickers in each packet.
a. How many stickers does he buy?
b. Each packet costs 20p.
How many packets can you buy for £2.00?
	A carton of orange fills 6 cups. Mrs Green wants to fill 50 cups with orange. How many cartons of orange does she need to buy?
	Ten children can sit at one table. There are 43 children. How many tables are needed so that each child can sit at a table?

	9 x 10 = 
	3 x 2 = 
	8 x 5 = 

	8 ÷ 2 = 
	6 x 3 = 
	½ of 16 = 

	40 ÷ 10 = 
	55 ÷ 5 =
	¼ of 12 = 

	1/3 of 30 = 
	¾ of 20 = 
	2 x 0 = 

	3 x 3 = 
	1/3 of 21 = 
	½ of 30 = 





	A bottle holds 1 litre of lemonade. Rachel fills 5 glasses with lemonade. She puts 150 millilitres in each glass.
How much lemonade is left in the bottle?
	An insect 3mm long is viewed under a magnifying glass which scales up its length x12
What length does it now appear to be?
	In a supermarket storeroom there are 7 boxes of tomato soup, 5 boxes of pea soup and 4 boxes of chicken soup. There are 24 tins in every box. How many tins of soup are there altogether?

	185 people go to the school concert. They pay £1.35 each. How much ticket money is collected?
	60 – 42 ÷ 6 = 
	365 ÷ 1 = 

	96 ÷ 4 = 
	879 x 3 = 
	50 x 70 = 

	100 x 412 = 
	486 ÷ 3 = 
	0.9 ÷ 10 = 

	1,320 ÷ 12 = 
	71
46 x 
	15 x 6.1 = 

	725 ÷ 29 = 
	15 % x 440 = 
	6574 x 31 = 

	20% of 1,800 = 
	2/5 x 140 = 
	3/5 ÷ 3 =



